2t

SEBARHBRAN T BEERTIEENS
S
2007 £=H=-+--H £49:00-11:00
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1. Ff(2)B—BEFENARSERN, HHEEEN > 5,f(n) 5%, AEH
HHEEB o, 01, 0, C3, €1, 5 1HSF

flz) = esC5 + caC§ + c3CF + c2C5 + ¢1CF + ¢o,
Seh Ozt Heslateren) |

2. Zm,n, kB IEEE 2502 4+ 508n + k = m?, H2400 < k < 2410, ERmZ{E.

a1 az by b
3 Iy b3 b4

3. BK = B—AE A, &

e ¢y di da

c3 ¢4 dz dy
(1) KAE—-TERL, 2,3, 49865,  (2) KhE—-FER1,2,3, 4894551,
(3) a1, a2, a3, a4 51,2, 3, 4B98EFY; (4 by, by, by, by F51, 2, 3, 4B9HET
(5) c1, 0, C3, cq B51, 2, 3, 4B9HEF; (6) dv,da, da, dy F1,2, 3, 4HIHEF.

HI KT B — 4R 308,
() ARE SV EIREBRAES a1 =l ax=2,a3 =3, a4 =4, by = 3,
by =4,c1=2,¢c5 =4

(ID) BB % D R4FE 8E?

4. Bf@)=2+ar? +bz+c g(z)=2>+z+dB1-4d < 0, BHIf(z) NEAE
BRa, B f(g(x))BEMER, 3K S (d) < &/ME.
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TMeEHETHHES

1 &R f(z) = z* — 2022 + 2z + 37. RAEEHEyY = fo)WEF LFEAMEHE
® Ala, f(a), B(b, f(b)),Cle, f(c)), D(d, f(d)), #13A, B, C, DINEE3LiR, AB —
BC =CD Ba <b < c < d? BT, BR48e B,

2. MAABC, AN BC'BEHE.F2 =K, B ABH A B BWER—EP, BOH B'C
WA —BEQ. CARI C'A' %R —BER,
STPMEP, Q, R348 AIAA, BB CC' S8R RIAT, KRR .

3. BEAEMBEERS, = {(z,y,2)lz =0, |z|+|y| < a)o B a >0, K& (4,3,2)F
1 35S, I A PR B

4. FE -, WA E A RSN, & 12000 4K, B, ZMAERBITELRRG
L B B RITER AR, SR E, SHIEARFIRE B TEAD,
EAHEMAZECERBIARE b,

ER. ZMABBEITHEREE— &R, AP ARIEEER N RE BT 22
EHSURFMERS, HAHHEEES IR THERERNARE, ElPAMEER
A REAER 20
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